To Oewonua tov Kvpiapyov ‘Opov

=T(n)=aT(n/b)+ f(n), T(1) = O(1),

omov a, b otaBepée, f(n) Betnn ouvdaoTnon.

1. Av f(n) = O(nl°8:97¢) ¢ > 0, 161e T'(n) = O(n'2: )

2. Av f(n) = O(nl°8 %), 161e T'(n) = O(n'°2 *logn)

3. Av f(n) = Q(n'°8: 91 ¢ > 0, non a f(n/b) < f(n),

10te T'(n) = O(f(n))

= Meyolvtegog omé n'°% @ nou f(n) nabopiCel Mom.
=T(n)=9T(n/3) +n. T(n) = O(n?) (nep 1).
=T(n)=T2n/3)+ 1. T(n) = O(logn) (mep 2).
=T(n)=3T(n/4) +nlogn. T(n) = O(nlogn) (mep 3).
=T(n)=2T(n/2) +nlogn. Aev eumimrel!

Me 8évtpo avadoowic : T'(n) = O(nlogn).
=T(n)=2Tn/2)+n. T(n) =0 (nlogn) (mep 2).
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T(n) =6T(n/5) +nlog’n. T(n) = 0(n'°:5)
T(n)=5T(n/6)+n. T(n) =0(n)
T(n)=3T(n/9)+ /n. T(n) =06(/nlogn)
T(n)=T(n—1)+n? T(n) = O(n?)
T(n)=T(n/5) +T(7n/10) 4+ 3n. T(n) = O(n)
T(n)=T(5n/9) +T(4n/9) +n. T(n) = O(nlogn)
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